N = 0l & AF & F Al A

FA S0
Mz Moz
el REE MJjRel CLRED
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
SR 13,073,882 10,460,862 2,613,020
= 86,996
AlH] 926,071
Tt 12,060,815
a0 B gl 97,218 0 97,218
SEsH A2 97,218 0 97,218
HAHEH XIS 97,218 0 97,218
308 AXISHHMISOIA 97,218 0 97,218
08 JIEIREE= 97,218 0 97,218
OHMI5el MZ2SAIXEAEI] 22| 22
97,218,000& 97,218
HFy A 235} 2,648,935 1,611,282 1,037,653
= 11,826
AlHI 48,446
24| 2,588,663
NA=H ska 2,207,099 1,202,133 1,004,966
OlAFZ2] 11,519 16,745 N5, 226
201 LErEIH| 3,500 5,700 A2,200
01 ArR2t2|t| 3,500 5,700 N2,200
OQArZE] A& HIE 3,500
- AEH EX 10, 000& *3000H 3,000
LTS 250,000 250
- 2REEEEAN 250,000& 250
203 LRF&XH| 4,800 4,800 0
03 AIMF=RHFF=ZEH| 4,800 4,800 0
OXAAL o173 2,400,000 2,400
OCIAF =FQLAUR AIZHE=XN 2,400,000& 2,400
301 e A2 3,219 6,245 N 3,026
09 SUIRRIBAZ 3,219 6,245 AN3,026
OQUAYR X 222 3,219
=== 88,000& x1H x12& 1,056
- SAH| 5,000 222 x1H x12& 1,320
- W EH| 2,600 222 x1Hx12& 687




2AM: SR
SH X
o

M Eoar 245
CHel: Felse B (SHel: &)
- _ _ ME
S BB RA(BH) - HRAY - B Ak o il ot o HimE2t
2e= 156,000 1% 156
e 0SIIE MB 243,960 206,880 37.080
201 Lgregy| 151,580 144,880 6,700
01 At222lt| 151,580 144,880 6,700
ORMILE 2 At 1,000,000 <43 4,000
SHSSAHE 350,000 424 =23 2,800
0222 A4S 143,100
SAZAA B2 =
150, 0002 *5642 84,600
52 z2d
20000024+ 102 » 122 24,000
62 BIILS 12,000,0002 x2% 24,000
53 SANDRE 1,500,0008 +72 10,500
O DYTAN 1,680
TR 3,0002 252+ 128 900
- ZAIEA 2,5002 *45 122 120
LI 6.0002 *55 * 122 360
SPPNEIES 5,0002 *55 * 122 300
202 o4l 92,380 62,000 30,380
01 =Li0itl 92,380 62,000 30,380
OZ=22 NS0l 92,380
2 L B 400,000 120 48,000
SAZAA B =
70,0002 *384% 26,880
52 XX 2,500,000 7 17,500
A N 280,837 151,173 129,664
101 el 227,159 100,673 126,486
10 JIZR2ZXS 227,159 100,673 126,486
OUIHM elg J| 2tk 227,159
Rl 38,957
- o124t 40,0782 x662 * 122 31,742
- F=xt 40,0782+ 12 * 12 5,772
- o1 %t 40,0782 x3 122 1,443




SN SR
I IRy Jat
Eelr NEsH gy ? A
_ = HET
SN -3 S2ARAH) - MFAY - BES oA Ol AF o8 BlusZ
SO0FH 168,330
- o2yl 40,0787 x240& <14 134,663
- =X 40,0782 482 »14H 26,933
- AR 40,0782 x122 14 6,734
=032 23
222,196,000 *4.5% 9,999
1E2Y 252 222,196,000 *1.3% 2,889
SHHEE 282 222,196,000% *0.5% 1,11
- ROUAAEE BY3
222,196,000% »2.54% 5,644
CEEIQUYEE
5,644,000 *4.05% 229
201 Ler2gy 17,078 16,900 178
01 At 2telbl 16,478 16,900 N422
Oka=xtd x 20,0002 »30H » 122 7,200
OEANL S22 M= 200,000 *7& 1,400
OHIH M= 7,440
ny 11,0002 60004 6,600
RPN 21,0002 ~40 K 840
OXXNE=Z AR 2EES 78 438
- EU 88,0008 *12 88
- JtECIA 175,000 *23] 350
02 s==2gd 600 0 600
OXMAE=ZE ARY AHA AISE
50,000 »1CH 122 600
303 Za= 36,600 33,600 3,000
01 Za= 36,600 33,600 3,000
O FNE 572 a2l
2,000,000& ~14& 28,000
OCEXNSRE A& 500,000 +7&H 3,500
OZRE=2d Ald 200,000 »3E *42] 2,400
OR=32& A& 100,000 «3& *42] 1,200
OR+FAM A& 500,000& *37H 2 A 1,500
A=K HE 29 1,651,036 809,060 841,976




2AM: SR
SH X
o

By #HYy 25
ol XS B4 Rk
_ _ HE T
A BB C(3I0) - NIRAY - BaS Aol Sl ko HRE2
203 HEF=4H 2,500 3,920 21,420
03 AIMFAASFXH 2,500 3,920 A 1,420
OSREHH Ak 2,500,000& 2,500
303 EaZ 1,105,890 558, 120 547,770
01 Z4&= 1,105,890 558,120 547,770
OLES =X (ZLH,2AH)
1,200,000& #7311 877,200
ORJIAH«%= atsd =X 600,000& *191H 114,600
OXATY ESE 114,090
- FOH(BHOAI) 186,000 5 »12& 11,160
- HOH(BHAI 163,500& 6 H 122 11,772
- FOH(2F2A1) 135,000& 15 « 122 24,300
- HOH(BH3AI) 92,500 16 123 17,760
- 21 OH(RHAKI-5H]) 83,5002 *492 122 49,098
307 21201 542,646 247,020 295,626
05 QIZtREZ 542,646 247,020 295,626
O32& 210N Z& 542,645,900 542,646
A CHHl =2& 2Al 19,747 18,275 1,472
201 LEH23H] 9,747 8,275 1,472
01 Atf2teld 9,747 8,275 1,472
Obl&tHEY 29 500
ERAHD RN 120,000 * 1} 120
S0 HE 70,0003 40013l 280
EUTHD N 100,000 *13| 100
O ALY 2 7,147
ek Hiaad 7,000 305 *13] 2,135
SXNHS Hiaa 7,000 *716E *13] 5,012
OXHl Hi&ttHel H=A H& 700,000& *3& 2,100
308 AHXIHXMSOIH 10,000 10,000 0
07 OH=2SSNRSAEE 10,000 0,000 0
Olldl2 s4XI# 10,000,000& 10,000
HEY HE 441,836 409, 149 32,687




FA S0
M smoer 25
ol UHXBE 7 (S92l
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
X ss 28 = 11,826
AlH] 48,446
sl 381,564
FOIXXIS 483 XA 29,030 48,140 A 19,110
AlH] 21,773
sl 7,257
201 LErEAH| 20,300 32,300 A 12,000
AlHI 15,225
2 H| 5,075
01 AtR22id] 2,500 12,500 A 10,000
OF0IXxIE 22 2,500,000% 2,500
AlHl 1,875
sl 625
03 #AI2HHI 17,800 19,800 A2,000
OF0IAXe T2 dxg XA
5,800,000& 5,800
AlHl 4,350
24l 1,450
Od= FOUXXSG retsg| I
12,000,000& 12,000
AlHl 9,000
sl 3,000
405 KH&HF S HI 8,730 8,840 A 110
AlHI 6,548
2 HI 2,182
01 XMANLEEFSHI 8,730 8,840 A110
OF0UXX g 2d9=3 +& 8,730,000& 8,730
AlHl 6,548
T Hl 2,182
AHLESH ZHMSS LIH AFA A 6,959 15,819 A8,860
= 6,959
101 oAb 4,151 10,361 N6,210
= 4,151
10 JIZHZ2=XNEES 4,151 10,361 N6,210
OYH2Z&EaH ZdHSE LIoH AFAZEZAL D2t
H 22X 4,151,000 4,151
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ol UHXBE 7 (S92l
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= 4,151
201 Lt 1,128 2,958 21,830
=2 1,128
01 At 2eld] 1,128 2,958 21,830
OgHMZEol Z2HM=& Ioil AFAIZAF AHEY
1,128,0002! 1,128
= 1,128
202 OdHl 1,680 2,500 820
= 1,680
01 3LUAbI 1,680 0 1,680
OgHMZEol Z2HMsE Lol AFAIZAF AHY
1,680,0002 1,680
= 1,680
MOIES XX tH Eetgd K& 35,346 40,946 25,600
AlH] 17,673
4l 17,673
301 oAz 35,346 40,946 25,600
AlHI 17,673
-4l 17,673
02 Hst=2sti=a 35,346 40,946 25,600
OMOIEXNEX XMHH #eta K&
35,346,000 35,346
AlHI 17,673
- dl 17,673
MEHEMXSY Htes 9,000 9,000 0
AlHI 9,000
201 Lpt3H| 5,000 5,000 0
AlHI 5,000
01 AtR2teltl 5,000 5,000 0
odsd ZMEHX B3 & 3
5,000, 000& 5,000
AlHI 5,000
301 YBtEAa= 4,000 4,000 0
AlHI 4,000
10 HAIMHIEAZ 4,000 4,000 0
OZstas A 24 4,000,000& 4,000
AlHI 4,000
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2AM: SR
SH X
o

Hm: ol 25
Sel: UXE PE (A2
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
ZEE NE 1,900 *500H 95
203 L2 =ZH| 1,400 1,400 0
03 AIM=XAD=ZY| 1,400 1,400 0
OFQIXXIS] AIHEZX 1,400,000 1,400
301 LUEBAS 7,400 600 6,800
10 SALAH 242 7,400 600 6,800
OX=Z FOIXX|Eets &It 150,000 *40H 6,000
OFUXXAY B 2} 250,000 x4 H 1,000
OQ=0l siAl Y HEULHG S AL
Bat 200,000 x23] 400
303 HAZ 5,250 3,150 2,100
01 Za= 5,250 3,150 2,100
OF0URXE SBI22E A4 50,0008 1 50
OR% FOIXXIE A& 1,000
- ER% 500,00024 %17 A& 500
SR 300,00024 %10 A 300
Py 200,000 * 101 £ 200
OZ2)aH LH3 2 HEMAIF Al 4,200
N SE=ES 400,000 *1J1 A %20 2 OF 800
= 300,000 * 170 A 204 2 0F 600
- & 100,000 *14IH A x2JH = Ot 2,800
307 gQI2H0|A 10,000 10,000 0
02 QIZAMNEX 10,000 10,000 0
OCtHos H2C 2 291
10,000, 000 10,000
= 28,500 28,487 13
B2 A 2,260 2,247 13
AFS 2t2|H] 2,260 2,247 13
OAIBITIE A2ERQ 1,720
HIOIMERIH E(2e})
200,000 *8H 1,600
HOIMIRIE EL(EWM) 60,0002 *2H 120
OAgtls 8 540




2AM: SR
SH X
o

By #HAYy A5
Shol: XY P (S92l
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl & 04 Sl ko HRE2
SREIEE 400, 0002 400
=9 M 70,0003 =24 140
203 HEF=4&H 6,400 6,400 0
03 AIMFAHRFAH 6,400 6,400 0
OAZIAlE AlZF A 6,400,000& 6,400
301 LetEd=z 11,160 11,160 0
10 BAIAHIENS 11,160 11,160 0
O MBIZIE B QBT Ofb|
108,800& x75H 8,160
O &2 MOISXIZX 3l &40t
150,000& «20H 3,000
307 QIZt0IA 8,680 8,680 0
05 BIZtREZS 8,680 8,680 0
OMBIZIE DR(2432) 110,000 x65% 7,150
OAMBITE WR(3244Y) 139,000& «5&H 695
OMBIZIE DR (48452) 167, 0002 *5% 835
ER-EX 91,650 92,000 A350
201 ZEH2IH] 2,450 2,800 A 350
01 Atf2teld 2,450 2,800 A 350
O - =4 o ZBLHY 2949
50,000 x7H+7 2,450
203 HERF=4H 89,200 89,200 0
EEESSEEESSI 89,200 89,200 0
OFREF=R AIMFA 57,600,000& 57,600
OZER= AIMFA 4,000,000& 4,000
OYHBTER S5 ABE
24,400,000& 24,400
OHlIMe =2 HRFA 1,600,000& 1,600
OF g2 JgE 2 1,600,002 1,600
RITH ME U R YT 25 50,510 1,412 39,098
201 ZEH2IH] 5,610 6,512 A 902
01 AR 2&cldl 5,610 6,512 A902
OAl - 78 Zd83 = 3,000, 000& 3,000
OXgAR P4 TR M
300,000& »3H 900




FA S0
M HF¥Her 25t
el UXEE 28 (H:®&)
- _ _ HNE
SH-EFHHA(FA) - NIRAE - BES O AFH @;OH Hws2
OH™MEIASE =X 1,710
AL g2k 20,000& 505 1,000
cl=a M 1,0002 *500% 500
sE2 8% N 70,0003 *3I4 & 210
203 SR F&H| 3,600 3,600 0
03 AIHEZFAHRFEY| 3,600 3,600 0
OWExT g2 AMMFEX 1,200, 000& 1,200
O3 Al 2te 3l 2,400,000& 2,400
303 EAZ 1,300 1,300 0
01 ZAZ 1,300 1,300 0
O32& HMotHME A& 1,200
ES 500,000& 1Y 500
B 300,000& *1H 300
& 200,000& »2H 400
OFXNAEZ BE0H 2= S22 A&
50,000& »2H 100
307 Q20N 40,000 0 40,000
05 BIZIRIEZ 40,000 0 40,000
odtgga=2+ JlUula HAHIIE S5
40,000,000 40,000
=00 ol LS 107,970 14,600 93,370
YMHsr 5T Al ALGH 107,970 14,600 93,370
AtSH2OLIHHIOl 29 15,000 9,000 6,000
201 B2 15,000 9,000 6,000
01 At=2teldl 15,000 9,000 6,000
OAtat= oratdiol 2<% 15,000
A= 2,000,000& *63] 12,000
E22(2=Y) M 1,000 50001 =63 3,000
HMSISE A FA 35,770 5,600 30,170
201 2Er2dHY| 30,050 5,600 24,450
01 At 2t2ldl 16,240 5,600 10,640
OgMsts MOoILE JHE 4,640
dA=E 2,000,000 2,000




2N E2
X XH - [u]
S Tt —

Bel BUSISTAl AlS

SN H - SR(EH) - NPAMY - BES 0] &F o e HRE2
- Wbl 5,000& 300 1,500
-EE2=E A 640

-l = 1,000& «5000H 500
- 70,0003 =204 140

S B 40,0003 «9H 360
ETES 100,000 100

- NMOoIUE =l 40,000& 40
O@Msts X g2t 7,000
oles 5,000& *1,000% 5,000
-l = 2,000& *1,000% 2,000
OZdatsgos 23 300
CRIEE ME 12,0002 5 60

- 2o S 60,0003 *42] 240
Od"MstsHE 29| 150,000& ~12& 1,800
OBMSIST Al SEAA =4 2,500
- PPT HIZ 1,500,000 1,500
-E2EE2= A 1,000
-84 150, 000& *20H 300

- i 40,000 64 240

- ASAHEAS M 23,0003 x20% 460

02 22934 6,210 0 6,210

OZ&2s U=2H =XHH 232= 6,210
-MI|lZ 500,000& »9& 4,500

- & ole=Eg 50,000& x9& 450

- RoldH 92 140,000& »9& 1,260

03 EAI2ZHI 7,600 0 7,600

OR¢ ddstgs =M It 5,400
- 8A 4EX 3,000,000& 3,000
CHEEZOY 2F 2 300,000 300

- MZ 4l 300,000 300
22 MA 1,000




2N BT
0o
a]

X{ ZH -
S =

Bel BUSISTAl AlS

_ _ _ Muo
SN - EH . S(3) - MRAY - BES 0 Ak o4 Sl ko HRz2
- @ 4o 160, 0002 501 800
- i 40,0003 *54 200
- s0tel X& 50,000 104 500
L AQE 7Y 300,000 300
OmMsts T2 213 2
2,200,000& 2,200
203 HRF&H 800 0 800
I EES RS 800 0 800
OBASS L ABEH 800, 0002 800
401 AIEHIZ SO 920 0 920
01 Al&HI 920 0 920
OF2E 12X SXME 2FH AL
& & 920,000& 14! 920
405 KHHHE SHI 4,000 0 4,000
01 AL SSFHSHI 4,000 0 4,000
OmMsS LisEH UIE 7Y 4,000
AT 1,000, 0002 1,000
Uz SAIH 1,000,000& 1,000
IR E 500, 0002 500
- HE 2K 1,500,000& 1,500
W= SAAS 57,200 0 57,200
201 ZEr=3H] 7,200 0 7,200
02 =224 7,200 0 7,200
ORJEX REXY TV 2
150,000 & +401 A+ 122 7,200
307 QI2HOI 50,000 0 50,000
02 fltFatEx 50,000 0 50,000
OUsEN f4XY HESEXL 50,000,000& 50,000
HENE =4 1,474,486 606,700 867,786
= 75,170
AlHI 877,625
24| 521,691
MBS 22 84 1,421,966 552,180 869,786
= 75,170




SA

SR
M MBS =4
ool MBS 22 84 (el @)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
MEH=s 2554 AlHI 877,625
-4l 469,171
=5 XA FSRE =4 840,000 0 840,000
AlHI 840,000
401 AIEHILROY| 840,000 0 840,000
AlHI 840,000
01 Al&Hl 840,000 0 840,000
O8s& XA F2E =4
840,000, 000& 840,000
AlHI 840,000
HMSHBSH™ AEAS 22,500 0 22,500
= 11,250
AlHI 5,625
Tl 5,625
307 QI2t0IA 22,500 0 22,500
= 11,250
AlHI 5,625
-4l 5,625
05 QIZtREZ 22,500 0 22,500
OXMKHI2H Al AL 22,500,000% 22,500
= 11,250
AlHI 5,625
el 5,625
AMEBIZISHE MEXHSAE ZX 40,000 0 40,000
AlHI 20,000
-l 20,000
401 Al&HIZ =204 40,000 0 40,000
AlHI 20,000
-4l 20,000
01 Al&HI 40,000 0 40,000
OAlI2IZIetS MEHSAIE £X
40,000, 000& 40,000
AlHI 20,000
el 20,000
Y MEMFX A BHX 83,712 123,480 A39,768
= 41,856
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M MBS =4
ool MBS 22 84 (el @)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
MM MEMSXZA HHX -l 41,856
307 QIZt0IA 83,712 123,480 A 39,768
= 41,856
T4l 41,856
02 QtFAE X 83,712 123,480 A 39,768
O MEM=XA B X 83,712,000& 83,712
= 41,856
Tl 41,856
- dEN=8els XN 24,000 20,000 4,000
AlHI 12,000
-4l 12,000
307 glz2told 24,000 20,000 4,000
AlHI 12,000
2| 12,000
02 glztFaEx 24,000 20,000 4,000
O+ MatH=sgals X2 24,000,000 24,000
AlHI 12,000
el 12,000
H24a MEHFX A X 20,928 20,580 348
= 10,464
-4l 10,464
307 glz2told 20,928 20,580 348
= 10,464
el 10,464
02 fltHaEx 20,928 20,580 348
ONZ24 MEHSX T B 20,928,000& 20,928
= 10,464
-l 10,464
MEHSWY 29I 18,334 20,000 AN 1,666
= 5,500
-4l 12,834
307 QI2told 18,334 20,000 A 1,666
= 5,500
-4l 12,834
05 BIZtREZ 18,334 20,000 A 1,666
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O3 dnaoa
15,127,037,000& *1/12%131% 1,651,369
04 A=SFE=S 4,501,138 3,530,361 970,777
01 H=*FE=s 3,674,912 2,844,387 830,525
Os2d A3FE3 S 3,674,912
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S2H EN+Y FES
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Ooga+d 98,100
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2ER(ES) 100,000& 4% 13| 400
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Od= A&, 2, 2&E &2 3l
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